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• 𝑃 =  𝑄(80)/𝑄(200)
•

𝛥𝑋𝑚𝑎𝑥 = 929 – 103 × 𝑃 , 𝑃 < 3.9
𝛥𝑋𝑚𝑎𝑥 = 882 – 91 × 𝑃 , 𝑃 > 3.9
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•

• 205 м: Δ𝑋𝑚𝑎𝑥 = −1240.9 ∙ log τ + 1883.5,
σ=±12.90 г/см², R² = 0.985

• 255 м: Δ𝑋𝑚𝑎𝑥 = −1122.4 ∙ log τ + 1907.0,
σ= ±13.73 г/см², R² = 0.983

• 305 м: Δ𝑋𝑚𝑎𝑥 = −1082.7 ∙ log τ + 1996.5,
σ= ±15.28 г/см², R² = 0.978

• 355 м: Δ𝑋𝑚𝑎𝑥 = −1083.5 ∙ log τ + 2123.9
σ= ±18.64 г/см², R² = 0.968

• 405 м: Δ𝑋𝑚𝑎𝑥 = −1129.3 ∙ log τ + 2308.2
σ= ±21.54 г/см², R² = 0.957
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• 𝑃 =  𝑄(80)/𝑄(200)

•

Δ𝑋𝑚𝑎𝑥  =  𝑋0/cos𝜃 – 𝑋𝑚𝑎𝑥
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•

• 205 м: Δ𝑋𝑚𝑎𝑥 = −1514.9 ∙ log τ + 2341.2,
σ=±13.46 г/см², R² = 0.983

• 255 м: Δ𝑋𝑚𝑎𝑥 = −1382.0 ∙ log τ + 2332.3,
σ= ±13.82 г/см², R² = 0.982

• 305 м: Δ𝑋𝑚𝑎𝑥 = −1265.2 ∙ log τ + 2308.6,
σ= ±15.02 г/см², R² = 0.979

• 355 м: Δ𝑋𝑚𝑎𝑥 = −1214.8 ∙ log τ + 2357.9
σ= ±17.25 г/см², R² = 0.972

• 405 м: Δ𝑋𝑚𝑎𝑥 = −1205.2 ∙ log τ + 2454.3
σ= ±19.86 г/см², R² = 0.963
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